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. How internal capacitances affects high frequency response of the ampllfler
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Please check whether you have got the right quest:on paper
N.B: 1. Question-1 is compulsory; solve any FOUR from rema:mng questsons
2. Assume suitable data if it is required. -
3. Draw neat and clean diagrams.

Solve any FOUR

What should be the relationship between gain of the amplifier and gain of feedback network m oscﬂlator
circuit? 3

. Explain Cross over distortion in Power ampliﬁer. -
d How CMRR can be increased in Differential amplifier.

Give the possible cascade stages for the followmg
1) Very high Riand Very High Av
2) Very High Ri and very high Ai

How feedback amplifier is less sensitive to noise,

Design Two stage CE-CE amplifier for the following specifications
Av= 1200, Sic0=10, FI=20Hz, Use suitable transistor from the data sheet.

Design transformer coupled Class A Power Amplifier togive output power of 10 W to a load of 100.
Draw circuit diagram of Colpitt Oscillator; hence explain its working and applications.

Explain LOW-.ﬁ;quency response of an BJT amplif_ie}. .
Explain working and principle of Crystal Oscillator.

Explain different types of Power amplifier in brief.
For the given differential amplifier circuit find Icq and Vceq.

for TI&T2
3.3k Bdc=100
VBE =0.7v
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Q-6 a Derive equation of overall Av, Ri and Ro for CS-CS multistage amphf‘er. §
b Give different topologies of negative feedback amplifier.

Q-7 Write shot notes on any FOUR

Current Shunt Feedback amplifier
Use of Coupling capacitors
Darlington Pair -
constant Current source in Differential ampllﬂer
Clapp Oscillator -
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In a distribution exactly normal 7% of items are under 35

63. What are the mean and standard deviation?
Investigate the association between the darkness of e

son from the following data: (Level of significanc
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